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In abacus (a) above, spike T has 5 bed ko T
Therefore, it represents the number 52. simil 41 o asy
beads and O has one bead. Hence it represents ts:;z/—\
, beads qnd 0 hds 2 h@ ads Thomioro it represg_[1_ =5 spikes to represent
Note : 1. Please explam to the children that an aba us
| numbers even beyond hundreds. b peads only- .
0. Each spike inan abacus can have maximu oot 1 bead in Spike T
i We know that one more than 9 is 10 and it is réP { pead in spike H.
i Al<o one moce than 99 is 100 and itis represe en
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Write the number that each abacu
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